€ELL-S
0se-l JvOS
‘ON "DMd LE0Z NV 31vd
welbnng
PECH 85IN07 JloD) JaMo | BXIEA
PHOAM DHIN
INVIL NDIS3A 9HIN
S1031IHOYY
=
o
2
I | 1NOAYT LNIN3SVY
J1LIL ONIMYHd

1 = %
MAYAL 2O

b L

INAINV/

nrate L]

FHNLYNDIS S.LOTLIHOHY

FHNLYNDIS S H3INMO

QILINI JLVAIYd NODYYANI

‘N3 A8 03d013A3C INI3E (AVHONYND ‘90T HOLI3S
NI SFHIV SZIF'0 DNIHNSYIN VIHY AF1NddV ATHSIHA
ANY 0T0Z'ZT°20 431Ya 01T0Z 40 ZOT'ON 32ON3DN
40 1dVd INOYS NOILYYOIN HIANM S3¥IV IBETT

40 1N S3IUIV S£85'6 ONIMNSYIIN VIUY NY)STHIV
00T ONIHNSYIIN YIYY NY HO4 ANOTOD DNISNOH
dNOYD 319VAY0-4Y 40 SNY1d ONIATING dI50d0Hd

311IL L23rodd

SION

PRODUCED BY AN AUTODESK STUDENT VER

PRODUCED BY AN AUTODESK STUDENT VERSION

£

L00'SE

110G '9¥g'€

i. whs] oov6z | = [oous | x [ooeb [
E0- NOLLYIN2 TV W3NY 3EWIHIVLIS 3414
r's
- whs| ozi'st {£05 01 T05) Tv10L
e oww. Twhs| zegrT | = | 012§ | X |Givw| % S0 | £0A
m ﬂ—‘m .ﬂ‘ wis| PELS = 6Z0'E X 595 x 50 Z0A
_ 7 whs| 6/774 | = | 0igs | x |9%6E| * &0 | 105
| T0- NOILYIND W0 Vauy 35VHIVLS 3414

7

L00°5€

YES'Y |

6S

g

wbs|sc0'6166

woLze | | 96091201

(20 3SVD ¥IV.LS 3YId + 10 ISVD
HIVLS Jd[4 + ININISVYE NIVIHY 340D + 43IMOL
40 NOILYTNDYID 40 v3HY) - LINIINISYE 40 vIYY

ONDIYYd 404 LNINISYE 40 VIHV

whs[ TrOzZE (60LT)1v1OL
wbs| oov'6C 7O ASYDMIVLISIYIH| 6
wbs| 0/T'sz TO 3SYUIVISIHI4| 8
whs| 690°6L - vIyy MOd| £
T wbs| €ivse  gwamol| 9
wbs| 866°0€ SYIMOL| S
wbs| 866°0€ p-damoL| v
whbs| 266°0€ €-4IMoL| €
whs| 8660¢ - - zHImolL| ¢
wbs| 866°0€ T¥amoL| T
YAMOL 40 NOLLYTNDHEID Y3ANN VIV
wbs|zeT'80901| = (£18 01109 ) WLOL
wbs| c9e'g = 0SE'Y X 9r3'c X 0 | (18
wbs| z16°01 = 0SEw X L10°S X <0 | 918
wbs| szsvie = 520'6 X 125'Tv c1g
wbs| 180T = PESY X 0ZS'S X[ so | vid
whs| 6216 = €Z0'T X Sz06 X | g0 | €14
wbs| TLET0T = 2585'12 X L8981 X | so | zi4
wbs| 658 £9T = Z56'1Z X LESBVT X 50 | 114
wbs| e6£7500T | = 0Zr' TS X 668°CE x| so | otg
wbs| L06°THST | = pOt €S X SPLLS X '] so | 608
Yd ar. wbs| £90'980Z = tOv €S X vZ18L X || so | soa
dﬂﬂ@ \J‘&Q whs| sz ser = E0L°TE X 38V LT x || g0 | tod
_ wbs| p96° LTS = E0L'TE X BEEOL | 908
wbs| ggz'9gze | = 094 7P X 6L0°TS 504
ey wbs| pggEzT = 0489 X 986°L1 708
! wbs| 98120z | = S08S | X | 169t £08
} wbs| 896'2EL = ELO'TY X 169°S€ X S0 | zos
\& wbs| /£T6'€8L = 960°0F X 15561 108
NOILYINDTVD vIYY LINIINISYY

JHHI[

kil

whs| 59064 1500 OL T0D) WLOL

whs| €6nE = B6S5C ¥ |teer| « 50 | s
whbs| BIVEE | = 0v6 ¥ % | s9/'9 ]
whbs| 985 = G50'T X Lore| x 50 | £
whbs| gosE | = S50 X |esge| «x 50 | 20
whs| 19p9E | = 0z L X | 050G 1]

H207d TVIJdIWIN0D NOLLVINDIYD V3K 3400

(€01 0L to7] W1ioL

059°E L3 05T £07
[ L 0oLt 0
ooa't i 00z 10

9- HIMOL NOLLVINDWD ¥adv 3400

{(#01 OL TOTHIVLOL

OCTT I | T T

rY=)

{01 0L T07) TVLOL

= ns1E X | 000T | [
= 056F | ¥ | 00/T £07
= 0561 X | DarE 701
= 058'E X COE'T Tm

S2TT-HIMOL NOILYINDTWD YadY 0D

d

6EE 9L

&M WIDE DRIVEWAY

N

NOISH3A LNIANLS MS3A0LNV NV A8 d30NA0¥dd

6’8l

08l vh

NS

09k

LGS

960°0%

L9G'61

NOISH3IA LNIANLS MSIAOLNY NV A9 d30NA0¥Ud




